
TV stand
FS2000

INSTALLATION MANUAL

6 7b

7a

40mm
(1.6")

ø7mm
(ø 9 /32") 

F

F

G

To avoid TV falling, anti-fall wire rope should be installed.

Please make sure the screen 
doesn't touch the legs.

400-650mm

11
00

-1
35

0m
m

a

±180°

J

I

K

L

H

100x100/100x200
200x100/200x200
200x300/300x200
300x300/300x400
400x200/400x300
400x400

30kg
66lbs

55"



C2

C1

5

M5x14 (x4)
M-A

M6x14 (x4)
M-B

M6x30 (x4)
M-C

M8x30 (x4)
M-D

(x4)
M-F

(x8)
M-G

(x8)
M-H

M8x50 (x4)
M-E

A (x1)

4mm (x1)
M 

B (x3) C1 (x1) C2 (x1) D (x1) E (x3)

4b

2

3

1

4a

M-F

M-A
G

M-F

M-G

M-C
M-D

H

M-F

M-B

M-F

M-A

M-F

M-H

M-C
M-D

H

M-F

M-H

M-C
M-D

H

M-G

M-G

M-F

M-H

M-E

H

M-F

M-H

M-E

H

M-G

M-F

M-H

M-E

H

M-F

M-G

M-C
M-D

M-F

M-H

M-C
M-D

M-F

M-H

M-C
M-D

M-G

M-G

M-F

M-H

M-E

M-F

M-H

M-E

M-G

M-F

M-H

M-E

C2

C1

�

�

�

�

M-F

M-B
G

A

ME

D
B

Note: 
Please secure the locking collar 
before attaching the TV screen.

Recommended
50-150mm

J

G (x2) H (x2) I (x3) 5mm (x1)
J K (x4) L (x4)F (x1)


